

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: February 9, 2021

Final Est	imate ımber	Contract ID	191115-G04	Pay Period Start	December 2, 2020	Original Contract Amor	unt \$3,684,694.70
15		Prime Contractor	Capital Paving & Construction, LLC	Pay Period En	d February 9, 2021	Net Change Order Amount Current Contract Amou	(\$80,678.36) unt \$3,604,016.34
Approval Date							By User
February 9, 2021			Generated and Approved (a	and should be con	sidered Draft) at the	e Project Office Level by	roeged1

February 17, 2021	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1
February 9, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	holdtc
February 9, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level by	roeged1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2020	November 1, 2020	October 30, 2020	100.00%

	Contract Informational Dat	es	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date	January 25, 2021	January 25, 2021	
Awarded Date	December 4, 2019	December 4, 2019	
Letting Date	November 15, 2019	November 15, 2019	
Notice to Proceed Date	January 6, 2020	January 6, 2020	
Open to Traffic Date	October 19, 2020	October 19, 2020	
Work Began Date	May 27, 2020	May 27, 2020	

Contract Total Pay	For Estimate No. 15			
		This Estimate	Previous	To Date
191115-G04				
	Total Posted Items Pay	\$0.00	\$3,604,016.36	\$3,604,016.36
	Gross Item Adjustments	\$0.00	(\$259,365.63)	(\$259,365.63)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$3,344,650.73	\$3,344,650.73
Contract Total Paya	able This Estimate:	\$0.00		

Items Paid This Estimate Period

No Data Available

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Page 1 of 20 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information						
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J7S3227	FAS S601(77)	Resurface	В	HENRY	from Route 2 to Route 7							
J7S3228	FAS S601(78)	Resurface	K	HENRY	from Route 7 in Urich to Route 52 in Montrose							
J7S3229	FAS S603(12)	Resurface	AA	HENRY	from Route 7 to end of state maintenance							
J7S3409	FAS S603(16)	Resurface	Н	HENRY	from Loop 49 intersection in	Butler to Route K intersect	ion near Montrose					
Totals by .	Job Numbe	rs										
J7S3227		d Item Pay Item Adjustm		s Item Pay		Previous \$796,663.49 (\$63,323.54) \$733,3339.95	To Date \$796,663.49 (\$63,323.54) \$733,339.95					
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J7S3228		d Item Pay Item Adjustm		s Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$1,411,827.51 (\$95,925.10) \$1,315,902.41	To Date \$1,411,827.51 (\$95,925.10) \$1,315,902.41					
	Liquid	tive centive lated Damages Contract Adju		1	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J7S3229		d Item Pay Item Adjustm		s Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$154,603.56 (\$8,308.52) \$146,295.04	To Date \$154,603.56 (\$8,308.52) \$146,295.04					
	Liquid	tive centive lated Damage: Contract Adju		1	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
J7S3409		d Item Pay Item Adjustm		s Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$1,240,921.80 (\$91,808.47) \$1,149,113.33	To Date \$1,240,921.80 (\$91,808.47) \$1,149,113.33					
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 4/1/2020 Page 2 of 20



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 4/1/2020 Page 3 of 20



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
1115-G04	J7S3227	0001	0010	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,258.00	-1,253.00	1,005.00	TONS	1,005.00	\$39.34	\$39,536.7
		0001	0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	394.00	0.00	394.00	TONS	394.00	\$39.34	\$15,499.9
		0001	0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,542.20	431.20	9,973.40	TONS	9,973.40	\$59.44	\$592,818.9
		0001	0040	4071005	TACK COAT	19,121.00	-1,557.00	17,564.00	GAL	17,564.00	\$2.23	\$39,167.7
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.0
		0001	0060	6161005	CONSTRUCTION SIGNS	1,700.00	-64.00	1,636.00	SQFT	1,636.00	\$7.12	\$11,648.3
		0001	0070	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.74	\$203.4
		0001	0800	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.35	\$40.
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	100.00	-100.00	0.00	EA	0.00	\$12.21	\$0.
		0001	0100	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,034.80	\$4,069.
		0001	0110	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	6.00	0.00	6.00	EA	6.00	\$763.05	\$4,578.
		0001	0120	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$29,420.14	\$29,420.
		0001	0130	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	159,784.00	0.00	159,784.00	LF	159,784.00	\$0.11	\$17,576
		0001	0140	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	89,865.00	0.00	89,865.00	LF	89,865.00	\$0.10	\$8,986
		0001	0150	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	3,622.00	1,059.72	4,681.72	SQYD	4,681.72	\$3.77	\$17,650
		0001	0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,290.00	-577.80	1,712.20	SQYD	1,712.20	\$6.85	\$11,728
		0001	0170	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,627.84	\$1,627
		0040	0180	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	6.00	0.00	6.00	EA	6.00	\$101.74	\$610
	Project J	'S3227 - To	tal Value	Posted to D	late as of Report Generated Date							\$796,663
	J7S3228	0001	0190	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$3,510.03	\$3,510
		0001	0200	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	8.00	\$1,271.75	\$10,174
		0001	0210	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,294.00	-1,539.00	1,755.00	TONS	1,755.00	\$41.92	\$73,569
		0001	0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	547.00	0.00	547.00	TONS	547.00	\$41.92	\$22,930
		0001	0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	13,754.30	1,643.50	15,397.80	TONS	15,397.80	\$62.49	\$962,208
		0001	0240	4071005	TACK COAT	27,914.00	-4,212.00	23,702.00	GAL	23,702.00	\$2.23	\$52,855
		0001	0250	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500
		0001	0260	6161005	CONSTRUCTION SIGNS	2,599.00	-213.00	2,386.00	SQFT	2,386.00	\$7.12	\$16,988
		0001	0270	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.74	\$203
		0001	0280	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.35	\$40
		0001	0290	6161025	CHANNELIZER (TRIM LINE)	150.00	-100.00	50.00	EA	50.00	\$12.21	\$610
		0001	0300	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,034.80	\$4,069
		0001	0310	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	6.00	0.00	6.00	EA	6.00	\$763.05	\$4,578
		0001	0320	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$47,945.34	\$47,945
		0001	0330	6181010	RAILROAD ENGINEERING	1.00	0.00	1.00	LS	1.00	\$1.02	\$1
		0001	0340	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	114.00	0.00	114.00	LF	114.00	\$6.10	\$695
		0001	0350	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	22.00	0.00	22.00	LF	22.00	\$25.44	\$559
		0001	0360	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	2.00	\$1,220.88	\$2,441
		0001	0370	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	181,523.00	0.00	181,523.00	LF	181,523.00	\$0.11	\$19,967
		0001	0380	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	106,554.00	0.00	106,554.00	LF	106,554.00	\$0.10	\$10,655
		0001	0390	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	14,489.00	-3,867.07	10,621.93	SQYD	10,621.93	\$1.38	\$14,658
		0001	0400	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,079.00	-27.00	4,052.00	SQYD	4,052.00	\$7.38	\$29,903
		0001	0410	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,627.84	\$1,627
		0010	0420	6061060	MGS GUARDRAIL	163.00	0.00	163.00	LF	163.00	\$20.35	\$3,317

Page 4 of 20 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POST To Date (See rep generated date)
15-G04	J7S3228	0010	0430	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	5.00	0.00	5.00	EA	5.00	\$2,802.94	\$14,014
		0010	0440	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	5.00	0.00	5.00	EA	5.00	\$2,713.41	\$13,567
		0040	0450	9031010	CONCRETE FOOTINGS, EMBEDDED	0.30	0.00	0.30	CUYD	0.30	\$3,052.20	\$915
		0040	0460	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	3.00	0.00	3.00	EA	3.00	\$203.48	\$610
		0040	0470	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	6.00	0.00	6.00	EA	6.00	\$101.74	\$610
		0040	0480	9031270A	2 IN. PSST POST - 12 GA.	48.00	0.00	48.00	LF	48.00	\$11.19	\$537
		0040	0490	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	9.00	0.00	9.00	LF	9.00	\$46.80	\$42
		0040	0500	9039902	MISC.RELOCATE AND REMOUNT EXISTING SIGN ON NEW PSST	3.00	0.00	3.00	EA	3.00	\$101.74	\$30
		0070	0510	7034600	CURB BLOCKOUT	1,126.00	0.00	1,126.00	LF	1,126.00	\$85.11	\$95,83
	Project J	7S3228 - To	otal Value	Posted to D	late as of Report Generated Date							\$1,411,82
	J7S3229	0001	0520	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	399.00	-50.00	349.00	TONS	349.00	\$45.27	\$15,79
		0001	0530	3105002	GRAVEL (A) OR CRUSHED STONE (B)	110.00	0.00	110.00	TONS	110.00	\$45.27	\$4,97
		0001	0540	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,472.50	9.40	1,481.90	TONS	1,481.90	\$67.36	\$99,82
		0001	0550	4071005	TACK COAT	3,071.00	-46.00	3,025.00	GAL	3,025.00	\$2.23	\$6,74
		0001	0560	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	-1.00	1.00	EA	1.00	\$750.00	\$75
		0001	0570	6161005	CONSTRUCTION SIGNS	784.00	-184.00	600.00	SQFT	600.00	\$7.12	\$4,27
		0001	0580	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.74	\$20
		0001	0590	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.35	\$4
		0001	0600	6161025	CHANNELIZER (TRIM LINE)	100.00	-100.00	0.00	EA	0.00	\$12.21	
		0001	0610	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	-2.00	0.00	EA	0.00	\$2,034.80	\$
		0001	0620	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$763.05	
		0001	0630	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$6,757.95	\$6,75
		0001	0640	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	21,025.00	0.00	21,025.00	LF	21,025.00	\$0.11	\$2,3
		0001	0650	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	15,671.00	0.00	15,671.00	LF	15,671.00	\$0.11	\$1,72
		0001	0660	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	234.00	175.00	409.00	SQYD	409.00	\$24.89	\$10,18
		0001	0670	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,017.40	\$1,0
	Project J	/S3229 - To	otal Value	Posted to D	ate as of Report Generated Date							\$154,6
	J7S3409	0001	0680	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,630.00	-2,226.00	1,404.00	TONS	1,404.00	\$42.53	\$59,7
		0001	0690	3105002	GRAVEL (A) OR CRUSHED STONE (B)	836.00	0.00	836.00	TONS	836.00	\$42.53	\$35,5
		0001	0700	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	14,091.70	555.40	14,647.10	TONS	14,647.10	\$66.71	\$977,10
		0001	0710	4071005	TACK COAT	28,921.00	-6,708.00	22,213.00	GAL	22,213.00	\$2.23	\$49,5
		0001	0720	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,5
		0001	0730	6161005	CONSTRUCTION SIGNS	2,397.00	-293.00	2,104.00	SQFT	2,104.00	\$7.12	\$14,9
		0001	0740	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.74	\$20
		0001	0750	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.35	\$4
		0001	0760	6161025	CHANNELIZER (TRIM LINE)	100.00	-94.00	6.00	EA	6.00	\$12.21	\$
		0001	0770	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,034.80	\$4,00
		0001	0780	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	6.00	0.00	6.00	EA	6.00	\$763.05	\$4,57
		0001	0790	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$35,937.64	\$35,93
		0001	0800	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	97,395.00	96,571.00	193,966.00	LF	193,966.00	\$0.12	\$23,2
		0001	0810	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	149,003.00	0.00	149,003.00	LF	149,003.00	\$0.09	\$13,4
						070.00		670.00	SQYD	670.00	00.57	04.44
		0001	0820	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	670.00	0.00	670.00	3010	670.00	\$6.57	\$4,40

Page 5 of 20 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191115-G04	J7S3409	0001	0840	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING		0.00	1.00	LS	1.00	\$1,831.32	\$1,831.32
Project J7S3409 - Total Value Posted to Date as of Report Generated Date										\$1,240,921.80		
191115-G04 Ove	191115-G04 Overall - Total Value Posted to Date as of Report Generated Date									\$3,604,016.34		

Revision 4/1/2020 Page 6 of 20



				s for Construction Signs (if applicable).								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post	
J7S3227	0060	October 1, 2020	1172	GO20-2 48x24 8.00 END ROAD WORK	0.013 & 11.480	RTE B	2.00	8			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	HWY 7 Ramp	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	SW 1200	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	SW 1150	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	SW 1000	RTE B	1.00	16			16	
				GO20-4 36x18 4.50 PILOT CAR FOLLOW ME	Lane Drop	Lane Drop	2.00	4.5			ę	
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)	Lane Drop	Lane Drop	4.00	6			24	
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR	Lane Drop	Lane Drop	4.00	8.75			35	
				R2-1 36x48 12.00 SPEED LIMIT XX	Lane Drop	Lane Drop	4.00	12			48	
				W3-4(48) 48x48 16.00 BE PREPARED TO STOP	Lane Drop	Lane Drop	4.00	16			64	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	Lane Drop	Lane Drop	4.00	16			64	
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	Lane Drop	Lane Drop	4.00	16			64	
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS	Lane Drop	Lane Drop	4.00	16			64	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	NW 1000	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	NW 1100	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	NW 1200	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	NW 1301	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	NW 750	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	NW 900	RTE B	1.00	16			16	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	RTE N	RTE B	1.00	16			16	
				WO8-12 48x48 16.00 NO CENTER LINE	RTE N Junction	RTE B	1.00	16			16	
				CONST-7-72 72x36 18.00 RATE OUR WORK ZONE	SB 0.013 & 11.480	RTE B	2.00	18			36	
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES	SB 0.120 & 11.370	RTE B	2.00	10			20	
					(CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE	SB 0.220 & 11.270	RTE B	2.00	12		
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	SB 0.320 & 11.170	RTE B	2.00	16			32	
				SPECIAL 7 96x48 32.00 POINT OF PRESENCE	SB 0.410 & 11.080	RTE B	2.00	32			64	
				WO8-12 48x48 16.00 NO CENTER LINE	SB 0.510 & 10.980	RTE B	2.00	16			32	
				WO8-12 48x48 16.00 NO CENTER LINE	SB 10.540 & 0.960	RTE B	2.00	16			32	
				WO8-12 48x48 16.00 NO CENTER LINE	SB 11.295 & 0.200	RTE B	2.00	16			32	
				WO8-12 48x48 16.00 NO CENTER LINE	SB 11.425 & 0.070	RTE B	2.00	16			32	
				WO8-12 48x48 16.00 NO CENTER LINE	SB 2.520 & 8.970	RTE B	2.00	16			32	

Revision 4/1/2020 Page 7 of 20

SB 4.540 & RTE B

2.00

WO8-12 48x48 16.00 NO CENTER



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post																								
7S3227	0060	October 1,	1172	LINE		6.960																														
		2020		WO8-12 48x48 16.00 NO CENTER LINE		SB 6.540 & 4.950	RTE B	2.00	16			32																								
				WO8-12 48x48 16.00 NO CENTER LINE		SB 8.620 & 2.870	RTE B	2.00	16			32																								
		November 9, 2020	464	WO8-11 48x48 16.00 UNEVEN LANES		0.000 to 11.543	NB and SB RTE B	21.00	16			336																								
				WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		0.000 to 11.543	NB and SB RTE B	4.00	16			64																								
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		0.000 to 11.543	NB and SB RTE B	4.00	16			64																								
				See Special Sign Details																																
	0060 - To	otal										1476																								
7S3228	0260	September 24, 2020	1436	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W 7th St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W 8th St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W. E. O. Graham St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		1st St. W		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		350 Rd		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		California Ave		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Division Rd		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E 3rd St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E 4th St		1.00	16			16																								
							WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E 5th St		1.00	16			16																					
					WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E 6th St		1.00	16			16																							
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E 7th St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E 8th St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E Elm St		1.00	16			16																								
													,	F F	F F	1	F F	1	1	Y F	F	F V F	F	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E Graham Rd		1.00	16			16				
																								1	F	1	1	F	F	F	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		E. 2nd St		1.00	16
																					WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		K Spur / 52		1.00	16			16							
								WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Kansas Avenue		1.00	16			16																				
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		MO 18		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		N Elm St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		N Oak St		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NW 100		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NW 150		1.00	16			16																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NW 300		1.00	16			16																								
				WO20-1 48x48 16.00		NW 400		1.00	16			1																								

Revision 4/1/2020 Page 8 of 20



	İ			s for Construction Signs (if app																																	
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post																									
I7S3228	0260	September	1436	ROAD/BRIDGE/RAMP WORK AHEAD																																	
		24, 2020		WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NW 480		1.00	16			16																									
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE AB		1.00	16			16																									
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE HH		1.00	16			16																									
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE MM		1.00	16			16																									
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		SB 17.040 & 0.218	RTE K	2.00	12			24																									
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 5.030 & 12.248	RTE K	2.00	16			33																									
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 0.196 RTE B	RTE K	1.00	16			16																									
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 1.010 & 16.270	RTE K	2.00	16			32																									
					WO8-12 48x48 16.00 NO CENTER LINE		SB LM 11.080 & 6.190	RTE K	2.00	16			32																								
										WO8-12 48x48 16.00 NO CENTER LINE		SB LM 13.070 & 4.200	RTE K	2.00	16			32																			
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 15.080 & 2.190	RTE K	2.00	16			3.																									
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 15.234 RTE H	RTE K	1.00	16			1																									
					WO8-12 48x48 16.00 NO CENTER LINE		SB LM 16.160 & 1.120	RTE K	2.00	16			3:																								
					SPECIAL 7 96x48 32.00 POINT OF PRESENCE		SB LM 16.810	RTE K	1.00	32			3:																								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SB LM 16.930	RTE K	1.00	16			1																									
																			1			L	L	L	L		L	WO8-12 48x48 16.00 NO CENTER LINE		SB LM 17.070 & 0.170	RTE K	2.00	16			3.	
										GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		SB LM 17.150	RTE K	1.00	10			1																			
				CONST-7-72 72x36 18.00 RATE OUR WORK ZONE		SB LM 17.260	RTE K	1.00	18			1																									
				GO20-2 48x24 8.00 END ROAD WORK		SB LM 17.260	RTE K	1.00	8																												
			1	_				-		V L V L	V V L								_					,	,				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 2.780 RTE MM	RTE K	1.00	16			10
																												WO8-12 48x48 16.00 NO CENTER LINE		SB LM 2.890 RTE MM	RTE K	1.00	16			10	
																			WO8-12 48x48 16.00 NO CENTER LINE		SB LM 3.050 & 14.230	RTE K	2.00	16			3.										
												WO8-12 48x48 16.00 NO CENTER LINE		SB LM 3.790 RTE AB	RTE K	1.00	16			1																	
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 3.880 RTE AB	RTE K	1.00	16			1																									
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 7.040 & 10.240	RTE K	2.00	16			32																									
				WO8-12 48x48 16.00 NO CENTER		SB LM	RTE K	1.00	16																												

Revision 4/1/2020 Page 9 of 20



				mental to the Estimate and is pro s for Construction Signs (if appl							_	
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J7S3228	0260	September 24, 2020	1436	LINE		7.812 RTE 18						
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 7.894 RTE 18	RTE K	1.00	16			16
				WO8-12 48x48 16.00 NO CENTER LINE		SB LM 9.060 & 8.220	RTE K	2.00	16			32
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 1281		1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 1401		1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 200		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 330		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 400		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 507		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 520		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 600		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 700		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW High St.		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W 3rd St		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W 4th St		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W 5th St		1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		W 6th St		1.00	16			1
		September 25, 2020	786	GO20-4 36x18 4.50 PILOT CAR FOLLOW ME		Lane Drop	RTE K	1.00	4.5			4.
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Lane Drop	RTE K	4.00	16			6
				W3-4(48) 48x48 16.00 BE PREPARED TO STOP		Lane Drop	RTE K	6.00	16			9
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		Lane Drop	RTE K	6.00	16			9
				WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		Lane Drop	RTE K	6.00	16			9
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR		Lane Drop	RTE K	7.00	8.75			61.2
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		Lane Drop	RTE K	8.00	6			4
				R2-1 36x48 12.00 SPEED LIMIT XX		Lane Drop	RTE K	8.00	12			9
				WO8-11 48x48 16.00 UNEVEN LANES		Various Log Miles	RTE K	14.00	16			22
		October 5, 2020	64	WO21-5b 48x48 16.00 SHOULDER WORK AHEAD		SB 1.171 & 1.265	A23051	2.00	16			3
				WO8-11 48x48 16.00 UNEVEN LANES		Various	RTE K	2.00	16			3
	0260 - To	otal										2093.7
J7S3229	0570	May 20, 2020	236	WO8-12 48x48 16.00 NO CENTER LINE		0.086	RTE AA WB	1.00	16			16
				See Special Sign Details		0.112	RTE AA WB	1.00		Const-8-48 No Phone Zone	12.00	1:

Revision 4/1/2020 Page 10 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
7S3229	0570	May 20, 2020	236	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		0.207	RTE AA WB	1.00	16			10
				SPECIAL 7 96x48 32.00 POINT OF PRESENCE		0.384	RTE AA WB	1.00	32			3
				SPECIAL 7 96x48 32.00 POINT OF PRESENCE		1.687	RTE AA EB	1.00	32			3
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		1.782	RTE AA EB	1.00	16			1
				See Special Sign Details		1.882	RTE AA EB	1.00		Const-8-48 No Phone Zone	12.00	1
				WO8-12 48x48 16.00 NO CENTER LINE		1.945	RTE AA EB	1.00	16			1
				CONST-7-72 72x36 18.00 RATE OUR WORK ZONE		1.974	RTE AA EB	1.00	18			1
				GO20-2 48x24 8.00 END ROAD WORK		0.022	RTE AA EB	1.00	8			
				CONST-7-72 72x36 18.00 RATE OUR WORK ZONE		0.017	RTE AA WB	1.00	18			1
				GO20-2 48x24 8.00 END ROAD WORK		1.974	RTE AA WB	1.00	8			
				See Special Sign Details								
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		CR 100 West	Right EP	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		CR 100 East	left EP	1.00	16			1
		May 27, 2020	364	GO20-4 36x18 4.50 PILOT CAR FOLLOW ME		.01 to 2.001	RTE AA Lane Drop	1.00	4.5			4
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		.01 to 2.001	RTE AA Lane Drop	2.00	6			1
				R2-1 36x48 12.00 SPEED LIMIT XX		.01 to 2.001	RTE AA Lane Drop	2.00	12			2
				WO8-11 48x48 16.00 UNEVEN LANES		.01 to 2.001	RTE AA	2.00	16			3
				See Special Sign Details								
				W3-4(48) 48x48 16.00 BE PREPARED TO STOP		.01 to 2.001	RTE AA Lane Drop	4.00	16			6
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		.01 to 2.001	RTE AA Lane Drop	4.00	16			6
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		.01 to 2.001	RTE AA Lane Drop	4.00	16			6
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		.01 to 2.001	RTE AA Lane Drop	4.00	16			6
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR		.01 to 2.001	RTE AA Lane Drop	4.00	8.75			3
	0570 - To	otal										599
7S3409	0730	August 27, 2020	1328	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Austin St.	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Water St.	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Broadway St.	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Delaware St.	RT CL	1.00	16			1
				CONST-7-72 72x36 18.00 RATE OUR WORK ZONE		EB LM .027	RT CL	1.00	18			1
				GO20-2 48x24 8.00 END ROAD WORK		EB LM 0.027	LT CL	1.00	8			
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		EB LM 0.127	RT CL	1.00	10			1

Revision 4/1/2020 Page 11 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
7S3409	0730	August 27, 2020	1328	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		EB LM 0.324	RT CL	1.00	16			16
				SPECIAL 7 96x48 32.00 POINT OF PRESENCE		EB LM 0.446	RT CL	1.00	32			3
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 1.960	LT & RT CL	2.00	16			3:
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 10.010	LT & RT CL	2.00	16			3:
				WO8-12 48x48 16.00 NO CENTER LINE	RTE BB	EB LM 11.644	LT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	RTE BB	EB LM 11.744	RT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 12.020	LT & RT CL	2.00	16			3
				WO8-12 48x48 16.00 NO CENTER LINE	RTE BB	EB LM 12.938	LT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	RTE BB	EB LM 13.027	RT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	ББ	EB LM 14.040	LT & RT CL	2.00	16			3
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 16.040	LT & RT CL	2.00	16			3
				WO8-12 48x48 16.00 NO CENTER LINE	RTE KK	EB LM 17.546	LT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	RTE KK	EB LM 17.616	RT CL	1.00	16			1
				SPECIAL 7 96x48 32.00 POINT OF PRESENCE		EB LM 17.724	LT CL	1.00	32			3
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		EB LM 17.828	LT CL	1.00	16			1
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		EB LM 17.920	LT CL	1.00	12			1
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		EB LM 18.020	LT CL	1.00	10			1
				CONST-7-72 72x36 18.00 RATE OUR WORK ZONE		EB LM 18.128	RT CL	1.00	18			1
				GO20-2 48x24 8.00 END ROAD WORK		EB LM 18.128	LT CL	1.00	8			
				WO8-12 48x48 16.00 NO CENTER LINE	RTE UU	EB LM 3.663	LT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	RTE UU	EB LM 3.745	RT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 3.970	LT & RT CL	2.00	16			3
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 5.990	LT & RT CL	2.00	16			3
				WO8-12 48x48 16.00 NO CENTER LINE	RTE VV	EB LM 6.651	LT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	RTE VV	EB LM 6.771	RT CL	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE		EB LM 8.021	LT & RT CL	2.00	16			3
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Fulton St.	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Gravel RD EB LM 14.431	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Havanna St.	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Henry St.	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		High St.	RT CL	1.00	16			1

Revision 4/1/2020 Page 12 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
7S3409	0730	August 27, 2020	1328	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Lyons St.	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Main St.	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Maple St.	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Mechanic St.	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 10003	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 10483	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 11503	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 13003	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 14003	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 1483	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 3003	RT CL	1.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 4003	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 5003	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 6003	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 7003	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		NE 9503	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Patty Ford Rd.	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE BB	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE KK	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE UU	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		RTE VV	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 1521	RT CL	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW 1601	RT CL	1.00	16			10
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		Baker St.	RT CL	1.00	16			10
		September 9, 2020	616	R2-1 36x48 12.00 SPEED LIMIT XX		EB 0.001 - EB 18.146	Various locations part of lane drop package	12.00	12			14-
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		EB 0.001 - EB 18.146	Various locations part of lane drop package	12.00	6			7.
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		EB 0.001 - EB 18.146	Various locations part of lane drop package	4.00	16			6
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		EB 0.001 - EB 18.146	Various locations part of lane drop package	4.00	16			6
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR		EB 0.001 - EB 18.146	Various locations part of lane drop package	5.00	8.75			43.7
				W3-4(48) 48x48 16.00 BE PREPARED TO STOP		EB 0.001 - EB 18.146	Various locations part of lane drop	5.00	16			8

Revision 4/1/2020 Page 13 of 20



The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable)

THE IIIIO	mation	below tills	sime are details	s for Construction Signs (if appl	<u>icabie).</u>							
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J7S3409	0730	September	616				package					
		9, 2020		WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		EB 0.001 - EB 18.146	Various locations part of lane drop package	9.00	16			144
				See Special Sign Details			V					
				GO20-4 36x18 4.50 PILOT CAR FOLLOW ME		EB 0.001 - EB 18.146	Various locations part of lane drop package	1	4.5			4.5
	0730 - To	otal										1752.25

Revision 4/1/2020 Page 14 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0030	BITUMINOUS PAVEMENT MIXTURE	Material		11	Oct 16, 2020	SYSTEM	(\$352,023.30)	
	PG64-22 (SURFACE LEVELING)			11	Oct 16, 2020	SYSTEM	\$352,023.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user oaksb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	11	Oct 19, 2020	oaksb1	(\$21,794.17)	AC Adjustment for 5,922.33 Tons -80 x 5922.33 x .046 = 21794.17
	PG64-22 (SURFACE LEVELING)			12	Nov 2, 2020	GIRGIA	\$1,362.13	An error was made on Estimate No 0011 AC Adjustment Worksheet for Jobs J7S3227 and J7S3228. The letting date was incorrectly inputted on the form which withheld to much money for the last pay period. New worksheets were worked up and sent back to the contract which they agreed with the dollar amount to be refunded. The worksheets are on file in E-Projects.
				13	Nov 16, 2020	GIRGIA	(\$13,976.19)	The AC Adjustment was inadvertently left off of Estimate No 0012. The following is the breakdown of the of the adjustment: Current 395 Base 470 Difference -75 4051.07 x .046 x -75 = (13976.19)
			ACAD - Tota	al			(\$34,408.23)	
	Other Item Adjust	ment - Total					(\$34,408.23)	
	BITUMINOUS PAVEMENT MIXTURE	Overrun	Overrun	12	Nov 2, 2020	SYSTEM	(\$24,327.22)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE LEVELING)			13	Nov 16, 2020	SYSTEM	\$24,327.22	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',56.41879 - 59.44000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE	Price		11	Oct 16, 2020	SYSTEM	(\$17,892.54)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE LEVELING)			12	Nov 2, 2020	SYSTEM	(\$12,239.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total	13	Nov 16, 2020	SYSTEM	(\$0.03)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	Daine Total		- Iotai				(\$30,131.64)	
0000	Price - Total						(\$30,131.64)	
0030 -		Otherstand	DEEL	4.4	Dec 4	OIDOIA	(\$64,539.87)	Detected information is an file in E. Daviede. A constant to a state of the constant in
0130	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	14	Dec 1, 2020	GIRGIA	\$813.87	Retro test information is on file in E-Projects. A copy for the contractor of the summary is attached to this estimate.
			REFL - Tota	ı			\$813.87	
	Other Item Adjust	ment - Total					\$813.87	
0130 -	Total						\$813.87	
0140	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	14	Dec 1, 2020	GIRGIA	\$402.46	Retro test information is on file in E-Projects. A copy for the contractor of the summary is attached to this estimate.
			REFL - Tota				\$402.46	
	Other Item Adjust	ment - Total					\$402.46	
0140 -	Total						\$402.46	
0230	BITUMINOUS PAVEMENT MIXTURE	Material		10	Oct 1, 2020	SYSTEM	(\$739,742.75)	
	PG64-22 (SURFACE LEVELING)			10	Oct 1, 2020	SYSTEM	\$739,742.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user oaksb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	- 7		- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS	Other Item	ACAD	10	Oct 1,	oaksb1	(\$40,840.55)	Current Index: 395, Base Index: 470, Difference: -75
	PAVEMENT	Adjustment			2020		(+ , 5 . 0 . 0 0)	11837.84 x .046 x -75 = -40840.55

Revision 4/1/2020 Page 15 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0230	MIXTURE PG64-22	Other Item Adjustment	ACAD	11	Oct 19, 2020	oaksb1	(\$12,974.02)	AC adjustment for 3525.55 tons -80 x 3525.55 x .046 = 12,974.02
	(SURFACE LEVELING)			12	Nov 2, 2020	GIRGIA	\$810.87	An error was made on Estimate No 0011 AC Adjustment Worksheet for Jobs J7S3227 and J7S3228. The letting date was incorrectly inputted on the form which withheld to much money for the last pay period. New worksheets were worked up and sent back to the contract which they agreed with the dollar amount to be refunded. The worksheets are on file in E-Projects.
				13	Nov 16, 2020	GIRGIA	(\$118.61)	An under payment was discovered during the final plans process. The material was placed during the pay period of Estimate No 0012 and the AC Adjustment was inadvertently left off. Payment was made during this estimate period but the AC worksheets reflect the items during Estimate No 0012. The following is the breakdown of the of the adjustment: Current 395 Base 470 Difference -75 34.38 x .046 x -75 = (118.61)
			ACAD - Tota	al			(\$53,122.31)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)		FUEL	13	Nov 16, 2020	GIRGIA	(\$2.01)	An under payment was discovered during the final plans process. The material was placed during the pay period of Estimate No 0012 but was entered during pay estimate No 0013. The system deducted the quantity for fuel adjustment according to the factors during estimate No 0013. It was for a total of (101.86). The actual worksheet calculations for Estimate No 0012 was for (103.87). The difference of (2.01). The following is the breakdown of the of the adjustment: Current 1.20 Base 2.11 Difference -0.91 34.38 x 3.32 x -0.91 = (103.87)
			FUEL - Tota	l e			(\$2.01)	
	Other Item Adjust	ment - Total					(\$53,124.32)	
	BITUMINOUS PAVEMENT MIXTURE	Overrun	Overrun	11	Oct 16, 2020	SYSTEM	(\$95,686.96)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE LEVELING)			13	Nov 16, 2020	SYSTEM	\$95,686.96	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',59.46880 - 62.49000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE	Price		10	Oct 1, 2020	SYSTEM	(\$33,406.21)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE			11	Oct 16, 2020	SYSTEM	(\$7,278.22)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	LEVELING)			11	Oct 16, 2020	SYSTEM	(\$3,373.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				13	Nov 16, 2020	SYSTEM	(\$101.86)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$44,159.46)	
	Price - Total						(\$44,159.46)	
0230 -	Total						(\$97,283.78)	
0370	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	14	Dec 1, 2020	GIRGIA	\$875.78	Retro test information is on file in E-Projects. A copy for the contractor of the summary is attached to this estimate.
			REFL - Tota	l			\$875.78	
	Other Item Adjust	ment - To <u>tal</u>					\$875.78	
0370 -	Total						\$875.78	
0380	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS		REFL	14	Dec 1, 2020	GIRGIA	\$482.90	Retro test information is on file in E-Projects. A copy for the contractor of the summary is attached to this estimate.
			REFL - Tota				\$482.90	
	Other Item Adjust	ment - Total					\$482.90	
0380 -	Total						\$482.90	
0400	MODIFIED COLDMILLING	Overrun	Overrun	10	Oct 1, 2020	SYSTEM	(\$5,085.56)	
	(DEPTH TRANSITIONS)			13	Nov 16, 2020	SYSTEM	\$5,085.56	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',7.38000 - 7.38000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	

Revision 4/1/2020 Page 16 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0400 -	Total						\$0.00	
0420	MGS GUARDRAIL	Material		11	Oct 16, 2020	SYSTEM	(\$1,526.25)	
			- Total				(\$1,526.25)	
	Material - Total						(\$1,526.25)	
	MGS GUARDRAIL	MaterialCredit		12	Nov 2, 2020	SYSTEM	\$1,526.25	
			- Total				\$1,526.25	
	MaterialCredit - To	otal					\$1,526.25	
0420 -							\$0.00	
0430	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material		11	Oct 16, 2020	SYSTEM	(\$5,605.88)	
			- Total				(\$5,605.88)	
	Material - Total						(\$5,605.88)	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	MaterialCredit		12	Nov 2, 2020	SYSTEM	\$5,605.88	
			- Total				\$5,605.88	
	MaterialCredit - To	otal					\$5,605.88	
0430 -	Total						\$0.00	
0440	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		11	Oct 16, 2020	SYSTEM	(\$5,426.82)	
			- Total				(\$5,426.82)	
	Material - Total						(\$5,426.82)	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	MaterialCredit		12	Nov 2, 2020	SYSTEM	\$5,426.82	
			- Total				\$5,426.82	
	MaterialCredit - To	otal					\$5,426.82	
0440 -	Total						\$0.00	
0510	CURB BLOCKOUT	Material		11	Oct 16, 2020	SYSTEM	(\$47,916.93)	
				11	Oct 16, 2020	SYSTEM	\$47,916.93	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user oaksb1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0510 -	Total						\$0.00	
0530	GRAVEL (A) OR CRUSHED STONE (B)	Material		2	Jun 2, 2020	SYSTEM	(\$4,979.70)	
			- Total				(\$4,979.70)	
	Material - Total						(\$4,979.70)	
	GRAVEL (A) OR CRUSHED STONE (B)	MaterialCredit		3	Jun 16, 2020	SYSTEM	\$4,979.70	
			- Total				\$4,979.70	
	MaterialCredit - To	otal					\$4,979.70	
0530 -	Total						\$0.00	
0540	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Other Item Adjustment	BITM	2	Jun 2, 2020	howelj4	(\$2,445.14)	Current Index: 420 Base Index: 470 Difference: -50 1,481.9x3.3%x-50=\$2,445.14

Revision 4/1/2020 Page 17 of 20



1 200	D	A -11	041	F-4	0	0	A t	Demode
Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
			Туре					
0540	LEVELING)	Other Item Adjustment						
		Adjustificiti	BITM - Tota	ı			(\$2,445.14)	
	Other Item Adjust	ment - Total					(\$2,445.14)	
	BITUMINOUS PAVEMENT MIXTURE	Overrun	Overrun	2	Jun 2, 2020	SYSTEM	(\$594.80)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE LEVELING)			4	Jun 30, 2020	SYSTEM	\$594.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',63.27660 - 67.36000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total		Overruit - 1	otai			\$0.00	
	BITUMINOUS	Drice		2	Jun 2,	SYSTEM	(\$6,051.49)	Peterance Item Price Adjustment Index Adjustment Type applied is ELIEL
	PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Filce		2	2020	STSTEM	(\$0,031.49)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$6,051.49)	
	Price - Total						(\$6,051.49)	
0540 -							(\$8,496.63)	
0640	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		2	Jun 2, 2020	SYSTEM	(\$2,312.75)	
			- Total				(\$2,312.75)	
	Material - Total						(\$2,312.75)	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		3	Jun 16, 2020	SYSTEM	\$2,312.75	
			- Total				\$2,312.75	
	MaterialCredit - To	ntal					\$2,312.75	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS		REFL	5	Jul 16, 2020	howelj4	\$104.07	90% accepted @ 105% pay .9*.05*\$2,312.75=\$104.07 10% accepted @ 100% pay No other adjustments noted for this line item.
			REFL - Tota	ıl			\$104.07	
	Other Item Adjust	ment - Total					\$104.07	
0640 -	Total						\$104.07	
0650	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		2	Jun 2, 2020	SYSTEM	(\$1,723.81)	
			- Total				(\$1,723.81)	
	Material - Total						(\$1,723.81)	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		3	Jun 16, 2020	SYSTEM	\$1,723.81	
			- Total				\$1,723.81	
	MaterialCredit - To	otal					\$1,723.81	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT		REFL	5	Jul 16, 2020	howelj4	\$84.04	97.5% accepted @ 105% pay .975*.05*\$1,723.81=\$84.04 2.5% accepted @ 100% pay No other adjustments noted for this line item

Revision 4/1/2020 Page 18 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0650	MARKING PAINT, TYPE P BEADS	Other Item Adjustment						
			REFL - Tota	ı			\$84.04	
	Other Item Adjust	ment - Total					\$84.04	
0650 -	- Total						\$84.04	
0660	MODIFIED COLDMILLING (DEPTH	Overrun	Overrun		May 18, 2020	SYSTEM	(\$4,355.75)	
	TRANSİTIONS)		Overrun - To	4	Jun 30, 2020	SYSTEM	\$4,355.75 \$0.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',24.89000 - 24.89000, 'is applied (if non-zero).
	Overrun - Total		Overruit - 10	otai			\$0.00	
0660	· Total						\$0.00	
0700	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		9	Sep 16, 2020	SYSTEM		
			- Total				(\$187,139.56)	
	Material - Total						(\$187,139.56)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	MaterialCredit		10	Oct 1, 2020	SYSTEM	\$187,139.56	
			- Total				\$187,139.56	
	MaterialCredit - To	al					\$187,139.56	
	BITUMINOUS PAVEMENT MIXTURE		ACAD	9	Sep 16, 2020	oaksb1	(\$9,678.18)	Base Index 470 - Current Index 395 = -75 -75 x 2805.27 x 4.6% = 9678.18
	PG64-22 (SURFACE LEVELING)			10	Oct 1, 2020	oaksb1	(\$40,854.18)	Current Index: 395, Base Index: 470, Difference: -75 11841.79 x .046 x -75 = -40854.18
			ACAD - Tota	al			(\$50,532.36)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)		FUEL	14	Dec 1, 2020	GIRGIA	\$0.12	Reimbursement of the fuel adjustment is made since payment was made on this estimate for the final rounding to the nearest tenth of a ton for the asphalt. All AC and Fuel adjustments for this line item were made on Estimate No 0009 and 0010.
			FUEL - Tota	ı			\$0.12	
	Other Item Adjust	ment - Total					(\$50,532.24)	
	BITUMINOUS PAVEMENT MIXTURE	Overrun	Overrun	10	Oct 1, 2020	SYSTEM	(\$35,480.84)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE LEVELING)			12	Nov 2, 2020	SYSTEM	\$35,480.84	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',63.88800 - 66.71000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE	Price		9	Sep 16, 2020	SYSTEM	(\$7,916.47)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	PG64-22 (SURFACE LEVELING)			10	Oct 1, 2020	SYSTEM	(\$33,417.53)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	LLVLLING)		Total	14	Dec 1, 2020	SYSTEM	(\$0.12)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	Dulas Tara		- Total				(\$41,334.12)	
0700	Price - Total						(\$41,334.12)	
0700 - 0800	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Other Item Adjustment	REFL	14	Dec 1, 2020	GIRGIA	(\$91,866.36) (\$572.12)	Retro test information is on file in E-Projects. A copy for the contractor of the summary is attached to this estimate.

Revision 4/1/2020 Page 19 of 20



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0800	BEADS	Other Item						
		Adjustment	REFL - Tota	ıl			(\$572.12)	
	Other Item Adjust	ment - Total					(\$572.12)	
0800 -	· Total						(\$572.12)	
0810	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	14	Dec 1, 2020	GIRGIA	\$630.01	Retro test information is on file in E-Projects. A copy for the contractor of the summary is attached to this estimate.
			REFL - Tota	ı			\$630.01	
	Other Item Adjust	ment - Total					\$630.01	
0810 -	· Total						\$630.01	
Overa	erall - Total						(\$259,365.63)	

Revision 4/1/2020 Page 20 of 20